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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
746 6 | 81 ) 0.3 03 | 10C3+3+Bn 59 0.85 1 21 28 360 2 CCP  |ITom. cToBSYp. MKz 447 3rijHO
o 795 9| 36 ) 0.8 0,8 - 10Cs 76 0.80 1 24 28 410 2 CCP | Hom. cToBbyp. miKix 310 Matepiasis
mcwomw_aw? 756 | 4 19 | @ | o2 02 - 10C3 121 | 070 | 2 29 40 460 2 CCP  |Tlom. cToB6yp. mxin 300 |micoBmops
744 3 19,5 ) 0,5 054 ¢ 10C3 96 0,9 | 2 26 32 510 2 CCP | Ilom. croB6yp. mkix 292 KYBaHHS He
W -l ose | w | oz 0.7 10C3+Br+]l3 1 | 065 | 2 28 36 400 2 CCF | Duei ancipiiesia. BUSIBIICHO
b Iom. cToOyp. mKij 324
783 14 +| 39 @D 0.8 0,8 * 10C3 86 0,75 1 25 32 400 2 CCP  |ITom. crosGyp. mKia 280 -/l-
Bceboro: g : = G 3,3 3,3 7 3 2 - - - 2 - 3 - 2
305 4 -oli-22 ') 0.8 0,8 10C3 86 0,70 | 1 77 28 390 2(¢) CCP | ITom. cTopGyp. mxia 346 -//-
JlecHsiHCbKe - -
310 6 | 06 ) 0,6 0.6 - 10Ca 91 0,70 1 27 34 410 2(e) CCP | Tlont. cToBGyp. miKiz 347 -//-
Beboro: - - - - 1.4 1,4 - - - - - - - - = 5 - -




» 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
91 13 15,540 (@) 0,6 0,6 10C3 7l 0,70 2 21 26 320 2(e) CCP  |[Tom. cToBOYp. MIKiA 303 3riaHo
Aaune 91 19 | 36 | Q) 07 0,7 10C3 71 0,70 | 5 28 320 2 CCP  |Tow. cros6yp. mxia| 337 Marepiais
87 3 6.1 1) 0,5 0,5 10C3 59 0,90 2 17 24 300 2(e) CCP  |[low. cToBOYp. HIKiA 210 TCOBNOPA
Beboro: = 5 5 = 18 18 s % = = = o = - e = i KyBaHHS HE
604 5 0,6 (1) 0,5 0,5 10C3 131 0,30 3 25 40 160 2 CCP  |[Tow. cToBOYp. LIKiM 252 BHSIBJICHO
604 12 2,1 (1) 0,2 0,2 8C32C6 56 0,85 1 20 20 340 2 CCP  |TTow. cToBOYp. mKia 255 -//-
607 | 11| 29 | ) | 09 0.9 10C3 01 | 050 | 2 25 36 260 b i o e L o He
[Tow. cToBOYp. WKL
JleGeniBebke | 633 3 32, 0 0,7 0,7 10C3 81 0,40 2 21 32 170 2 CCP  |[lou1. cTOBOYp. MKz 164 -//-
633 9 9,5 ) 0,2 0,2 10C3+/13 81 0,70 1 27 36 430 9 CCP  |Ilow. cTOBOYp. ki 190 -//-
656 10 5.1 ) 0,6 0,6 10C3 9 0,60 1 28 40 390 b) CCP  |ITow. cToBOyp. mKia 125 L
656 11 38 ) 0,4 0,4 10C3 66 085 1A 25 28 440 2 CCP  [Iow. cToBOyp. mKia 220 <~
Bceboro: = = e = 35 35 3 = " " 5 2 - = 5 £ i -
353 1 8.0 1 0,4 0,4 10C3+/13+bn 66 0,70 2 18 24 270 2(e) CCP  |Ilow. croBOyp. mKig 113 /-
MpumopebKe 360 2 57 (1) 0,2 0,2 7C32bn1 /13 66 0,80 1A 26 32 375 2(e) CCP  |ITow. cToBOYp. WKz 240 -1
364 2 113 (1) 0,5 0,5 10C3+/13+bn 66 0.70 1 24 28 370 2(e) CCP  |Tlow. cToBOYp. WKiz 224 =S
Beworo: = 5 . = L1 L1 7 e ! . 2 g = % . e i <
238 4 63 (1) 0,7 0,7 8C31bnl /I3 63 0.80 1A 24 2 360 2(¢) CCP  |ITow. cToBOYp. WK 154 B
252 2 5.7 (1 0,3 0,3 10C3 ) 0,70 2 14 14 170 2(e) CCP | Ilou. cToBOYp. LKA 123 s
LlenTpanbHe 251 7 1.1 () 0,3 0,3 10C3 39 0.70 1 6 20 200 2(e) CCP  |[Mow. croBOyp. mkin 1S =
230 Q 43 (1 0,6 0,6 7C33)13+bn 64 0.70 1A 25 28 340 2(e) CCP  |ITow. cToBGyp. WKia 148 ST
272 3 247 (1 0.8 0,8 10C3 76 0.75 1 24 28 370 2(¢) CCP  |[Tow. croBOyp. mIKia 144 a7//i
Beboro: 5 4 27 27 = i " = = = B
416 3 307 (1) 0,4 04 10C3+ 113 121 0.50 2 29 44 320 9 CCP  |ITow. cToBOYP. WK 183 ==
439 5 si6 (1) 0.9 0,9 10C3+/13+bn 68 0.60 1 2 24 280 2 CCP  |[low. croBOyp. mKin 211 =/
i . 432 | 5 | o1 | (D 0.6 0,6 | 6Cxo8pcase)ytis| 68 | 070 | 1 23 26 320 2 CCP  [Mow. cosOyp. uikin) 248 /-
p 416 Q 37 ) 0,3 03 10C3+/13 121 0.50 2 29 44 320 2 CCP  |[Tow. croBOyp. mikia 230 il
431 5 6.9 (1) 0,8 0,8 10C3+/13 9] 0.60 2 23 32 290. 2 CCP  |Ilow. croBOyp. WKin 226 2=
431 3 45 (1 0,6 0,6 9C31bn+]13 64 0.70 1 23 24 330 2 CCP  |[Tow. croBOyp. wikia 282 o=
Beboro: 2 ) 36 3.6 2 y 1 5 = = 4
Jly6euancnKe 726 1 51 (1) 0,4 0,4 10C3+Bmu+bn 91 0.70 | 27 36 420 9 CCP  |Ilow. cToBOyp. mKin 263 =
CCP Kopenesa rydxa
TR TR 04 10C3 g el 13 il 280 2 Mouw. cro6yp. wkia| 155 gl
Beworo: & 5 “ X 0.8 0.8 3 4 = 4 - z M 4 . ™ % )
fifssii 5 2 8 4] 0,8 0.8 6C3(91)4C3(40) 91 0,60 4 17 34 180 2 CCP  |[low. cToBOYp. ki 133 /-
ki 4 3 | 147 | () 02 02 10C3 91 | o070 | 3 21 28 280 2e) | CCP [Tlow crosbyp. wkia| 300 e




.\..\\
y
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
6 7 L7 ) 0,5 05 . 10C3 91 0,70 2 24 36 360 2(e) CCP  |Ilom. cToBOYp. mIKiz 274 3rijHo
6 5 12 (1) 0.7 0,7 .| 8C3(81)2C3(61) 81 0,70 2 21 32 320 2(e) CCP  |Tow. cToBGYp. WKix 241 Matepiais
6 4 6.1 1) 0.4 0.4 10C3 91 0,70 2 22 32 310 2(e) CCP  |Tlom. cToBOYp. MIKiz 128 JHCOBTIOPSIL
4 3 147 | @ 0,5 DSk 10C3 91 0,70 3 21 28 280 2(e) CCP  |ITom. cToBOYP. WIKij 210 KYBAHHS He
iBniune 2 4 8.5 (1) 0,7 0,7 . | 8C3(91)2C3(61) 91 0,70 2 24 28 400 2(e) CCP  |ITom. cToBGYP. WIKix 260 BHSIBIICHO
8 11 6.6 @ 0,8 0,8 _ | 7C3(91)3C3(45) 91 0,60 3 20 34 220 2 CCP  |Tom. croBGyp. mKia 255 -//-
8 3 7.1 1) 0,3 0,3 - 10C3 91 0,70 3 20 24 280 2 CCP  |ITom. cToBGyp. mKiz 187 -//-
8 3 71 ) 0.2 05 10Cs 91 0,70 3 20 24 280 2 CCP |Ilom. cToBGYp. MIKiz 155 -//-
1 2 1,7 ) 1,0 1,0 » 10C3 61 0,30 1 21 30 150 2(¢) CCP  |Iom. cToBOYp. WK 234 -/~
Bceboro: - - - - 6,1 6,1 - - - - - - - - z - - -
218 2 4,7 1) 0,5 0,5~ 9C31Bm+/Iz 66 0,70 1 23 28 305 2(e) CCP  |Ilom. cToGyp. mKin 322 <//-
XyTipcbke S -
184 6 6,7 @ 0,8 08 - 10C3 59 0,70 2 18 24 240 2(e) CCP  |Ilom. cToBGYp. mIkiz 141 -//-
Benoro: - - - - 1,3 1,3 - - - - - - - - = = - -
Paszom no gicrocny CCP 25,6 ra - - - - - - - - - i « -
431 1 1.4 - - - 4C4B Bl Jp+Oe| 71 0,7 1 23 24 220 2 BCP  |Hour. ctoGyp. mKix 20 -//-
431 ) 4,7 - - - 10C3 91 0,55 1 28 40 350 2 BCP  |ITom. cToBGyp. mKiJ 30 -//-
431 3 45 (1) 3.9 3.9 9C31Bn+I3 64 0,7 1 23 24 330 2 BCP  |Ilom. cTo6yp. mkia 15 -//-
431 4 8,6 - - - 8C31/131Bn 91 0,7 2 23 26 310 2 BCP  |ITow. cToGyp. mKia 20 <=
431 5 6,9 ) 6,1 6,1 10C3+I3 91 0,6 2 23 32 290 2 BCP  |Iou. croBGyp. mKix 35 -//-
431 6 27 - - - 10C3+]13 61 0,6 1 20 24 240 2 BCP  |Tlou. croBGyp. mIKi 30 -//-
432 i 2.2 @ 1,8 1.8 |6Cao1)4Cs(Ty+En | 91 0.6 1 28 38 380 2 BCP  |ITom. cToByp. mkis 40 b/
432 3 9.1 ¢} 8.0 &0 6C3(68)4Ca(86)+1[3 68 0,7 1 23 26 320 2 BCP  |Tlowm. croBGyp. MKiX 35 /-
432 4 0.8 - 5 s 10Ca 106 0,6 1 28 38 360 2 BCP  |Tlour. cToGyp. mkiz 35 -//-
2| 8 |26 | - i ; 10C3K+Br o1 | 05 | 1 26 36 300 2 | Bep :“M_W_QMH__MM_M@% a2 -If-
Tapacisebice 432 10 4.8 - - - 10C3+Bn 68 0,6 2 21 26 260 2 BCP  |ITom. cToBGyp. mKij 75 -//-
432 11 4.& - - - 10C3 101 0,7 2 25 26 380 2 BCP  |Tlour. cros6yp. 1Kiz 25 -//-
432 i3 0.6 - - - 10C3 68 0.5 7 20 26 210 ) BCP  |ITout. cToBGYyp. mki 25 -//-
432 14 0.8 = ‘ . 10C3+Bn 64 0,7 2 19 20 260 2 BCP  |Tlow. croBGyp. mKia 20 /A
433 3 6.3 - - - 10C3+Bn 106 0,65 2 25 32 350 2 BCP  |Ilom. croBOyp. mKiq 20 -//-
433 4 1.3 - - - 9C31Bmy+/I3 111 0.4 1 30 48 260 2 BCP  |ITow. cToBOyp. MK 20 -//-
433 6 6,6 (1) 6.0 6.0 4C32bn3Bnul )3 61 0,7 1 22 30 230 2 BCP  |Ilom. croGyp. mKix 20 -//-
433 7 3.1 - = = 9C31)I3+Bn 66 0,7 1 23 26 310 2 BCP  |Ilour. cToBByp. mkij 20 -//-
8 4,4 . - 4 9C31bn 111 0,7 2 26 42 370 2 BCP  |ITow. cToBOYp. MmKiz 20 -//-
433 9 0,4 = s - 10C3+]13+Bn 71 0,7 2 20 22 280 2 BCP  |Tlomn. crosGyp. mkin 20 -//-
433 10 2.8 - - - 10C3+Bn+]13 61 0,7 1 20 22 280 2 BCP  |ITour. cToBGYyp. MKig 20 -//-
430 1 0,7 - - - 10C3+]I3+bn 101 0,6 1 28 38 360 2 BCP  |ITom. cToBGYp. IKIX 25 ~f/-




1 2 3 4 5 6 f/ 8 9 10 11 12 13 14 15 16 17 18 19
430 4 4,9 - = - 9C31bn 116 0,55 2 28 44 320 2 BCP  |ITom. cTosGyp. mKiJX 25 3rijHo
TapaciBcbke | 430 7 1,0 - . - 8C32bn 56 0,8 1 21 24 310 2 BCP  |TTom. cToB6yp. WKz 25 MaTepiaip
430 8 2,0 - - - 10C3+bn 66 0,7 1 23 24 320 2 BCP  |Tlonr. croBGyp. mikij 25 JICOBIIOPSIT
Beboro: - - 96,0 86,8 86,5 - - - - - - - - - - - KYBaHHS He
ﬂuww_c?- -:_v bmaﬂﬂn_.-% u_wﬁumv w_aum ra _ z * ? 5 = ¢ = 5 5 b - BUSIBIICHO
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